Assembly Instruction

It needs at least
two people to install.

I\

Before starting the
assembly, you must
read the whole
manual and follow
the instructions

Page 1/7




Assembly Instruction




Assembly Instruction

Hardware arts

§ T I 7 o Eﬂg

M8*15 M8*25 M8*35 M8*45 M8

@ 2spcs +2pcs @ 6PCS @ spcs @ rcs @orcs @ rc ©2xrcs @irc

Part list

Page 3/7




Assembly Instruction

Step:1 E @ xorcs | 52 F @ x1ercs

@G X 6PCS Four bed sides ( e)
need to be installed, 2 sets in total

Tips : Don't tighten all the screws. Tighten them at last,

Page 4/7




Assembly Instruction




Assembly Instruction




B @ xrcs Step:8

Assembly Instruction




